C:# Examining Digit Place Value Name:

Solve each problem.

10)

11)

12)

Answers

1) Which choice has a 5 with the value of 500 or 5 hundreds?
A. 579 B. 2,659 C. 258 D. 453 b
2.
2) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 48,926 B. 17,268 C. 86,375 D. 23,748 3
3) Which choice has a 7 with the value of 70,000 or 7 ten thousands? 4.
A. 51,487 B. 81,376 C. 73,125 D. 625,974
5.
4) Which choice has a1 with the value of 10 or 1 ten? ]
A.51 B. 81 C. 187 D. 14 B
7.
5) Which choice has a5 with the value of 500 or 5 hundreds?
A. 745 B. 9,356 C.253 D. 2,537 8,
6) Which choice has a4 with the value of 4,000 or 4 thousands? °©
A. 67,845 B. 84,276 C.71,542 D. 1,463
10.
7) 'Which choice has a 7 with the value of 70,000 or 7 ten thousands? "
A. 974,182 B. 39,176 C. 968,271 D. 59,783 '
12.
8) Which choice has a1 with the value of 10 or 1 ten?
A. 815 B. 81 C.631 D.51
9) Which choice has a5 with the value of 500 or 5 hundreds?
A. 8,315 B. 579 C.5,624 D. 2,615
Which choice has a 1 with the value of 1,000 or 1 thousand?
A. 1837 B. 35,416 C. 2,195 D. 5,174
Which choice has a7 with the value of 70,000 or 7 ten thousands?
A. 715,968 B. 278,654 C. 841,735 D. 851,742
Which choice has a9 with the value of 90 or 9 tens?
A. 39 B. 529 C. 596 D.79
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C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a 5 with the value of 500 or 5 hundreds?
A.579 B. 2,659 C. 258 D. 453

2) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 48,926 B. 17,268 C. 86,375 D. 23,748

3) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 51,487 B. 81,376 C. 73,125 D. 625,974

4) Which choice has a1 with the value of 10 or 1 ten?
A.51 B. 81 C. 187 D. 14

5) Which choice has a5 with the value of 500 or 5 hundreds?
A. 745 B. 9,356 C.253 D. 2,537

6) Which choice has a4 with the value of 4,000 or 4 thousands?
A. 67,845 B. 84,276 C.71,542 D. 1,463

7) 'Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 974,182 B. 39,176 C. 968,271 D. 59,783

8) Which choice has a1 with the value of 10 or 1 ten?
A. 815 B. 81 C.631 D.51

9) Which choice has a5 with the value of 500 or 5 hundreds?
A. 8,315 B. 579 C.5,624 D. 2,615

10) Which choice has a 1 with the value of 1,000 or 1 thousand?
A. 1,837 B. 35,416 C. 2,195 D.5174

11) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 715,968 B. 278,654 C. 841,735 D. 851,742

12) Which choice has a 9 with the value of 90 or 9 tens?
A. 39 B. 529 C. 596 D. 79

Answers
1 A
2. A
3 C
4 D
5 D
6 B
7. A
. A
9 B
0. A
11. B
12. C
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